
  ME   14.06.2024 980991  1 /41 

980991
MONTAGEANLEITUNG

MONTAGEAANWIJZING
ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE



  ME   14.06.2024 980991  2 /41 

5230

1281

10304

20351

23382

1777

1778

2781

2783

1801

3859

1917

1918

3230

10304

12351

34382

1779

1780

2782

2783

2800

2859

2990

    

 900 x 479 x 15 mm1x63542421

 457 x 479 x 15 mm1x62002422

 900 x 479 x 15 mm1x63542423

 900 x 479 x 15 mm1x63542424

1916 x 439 x 15 mm1x67672431

1916 x 461 x 15 mm1x67682432

21 + 22 + 23 + 24

31 + 32

6,3 x 10,5 mm

6,3 x 10,5 mm

3,5 x 15 mm

3,5 x 15 mm

4 x 13 mm

4 x 13 mm

L = 1915 mm

L = 957 mm

L = 1915 mm

0 mm

10 mm

20 mm

30 mm

40 mm

50 mm

22

23

32

 

24

21

31

L = 478 mm



  ME   14.06.2024 980991  3 /41 

2

1

2
1

1.



  ME   14.06.2024 980991  4 /41 

 

 

21 + 22 + 23 + 24

22

1  +  2

382

801

382

917 + 918

23

9x

10x

19x
4 x 13 mm

382 801

1x

L=1915 mm

917

1x
L=957 mm

801

918

24

21

2.

3.

24

21

22

23

917

L=478 mm
1x

918



 

 

 

  ME   14.06.2024 980991  5 /41 

 

 
 

 

351

230

351

351

351

783

304

304

777

304

778

304
783

304

304

304

304

351

20x

3,5 x 15 mm

5x

230

304 777 778 783

6,3 x 10,5 mm

10x 1x 1x 2x

304

304

2x

 
 

777

778

4.

5.

5x



 

 

 

 

  ME   14.06.2024 980991  6 /41 

 

  

781

2x

781

781

781

2x

781

382

2x

4 x 13 mm

382

382

382

2x

859

859

3x

6.

7.

3x



 

  ME   14.06.2024 980991  7 /41 

8.
4 x 13 mm

2x

382281

1x

382

382

281

100
 m

m

83
 m

m

67
 m

m



 

 

  

  ME   14.06.2024 980991  8 /41 

9.



 

 

 

  ME   14.06.2024 980991  9 /41 

31 + 32

4 x 13 mm

12x

382 990

2x

10.

11.

31

32

1  +  2

32

31 382 382
382

382
382

382

1.

1.

2.

2.

2.

2.

382 382
382

382
382

382

382 382
382

382
382

382

990



 

  ME   14.06.2024 980991  10 /41 

 

382

382

800

800

4 x 13 mm

20x

382 800

L=1915 mm

2x

10x

10x
800

800

12.

13.

230 351

3x 12x
3,5 x 15 mm

351

351

351

351

230
3x



 

 

 

 

  ME   14.06.2024 980991  11 /41 

 

 
 

304

783

304 783

304

780

304

304
304

783

304

6,3 x 10,5 mm

10x

304

2x

783780779

1x 1x

304

304

304
304

779

2x

  

779

780

14.



 

 

 

 

  ME   14.06.2024 980991  12 /41 

 

 

 

382

2x

4 x 13 mm

382

382

382

2x

782

2x
782

782

782

782

859

382

859

859

2x

15.

16.



 

 

  

  ME   14.06.2024 980991  13 /41 

17.



  ME   14.06.2024 980991  14 /41 

    

1967 x 608 x 15 mm1x6037241

1967 x 580 x 15 mm1x6197242

1873 x 560 x 15 mm1x6013243

1757 x 560 x 15 mm1x6607244

1757 x 560 x 15 mm1x6607245

 871 x 500 x 15 mm3x6634246

1887 x 889 x 2,5 mm2x-7

1757 x 64 x 15  mm1x6608248

1757 x 64 x 15 mm1x6609999

 914 x 539 x 15 mm1x62102410

 871 x 560 x 15 mm1x61932411

 428 x 500 x 15 mm1x66502412

 437 x 126 x 15 mm3x61962413

1053 x 92 x 12 mm3x-13.1

 406 x 313 x 2,5 mm3x-13.2

 476 x 20 x 15 mm1x-14

1

2

3

5

6

6

7

7

8
9

4

 

6

10

11

13.213.1

13

12

14



  ME   14.06.2024 980991  15 /41 

102 8

181 16

190 22

201 2

203 4

204 3

215 6

220 8

221 4

240 4

245 2

303 4

305 12

320 10

330 4

351 26

354 8

382 18

408 6

441 2

746 1

820 3

885 2

886 1

887 1

890 1

891 2

913 1

915 1

8 x 30 mm

6 x 10 mm

6 x 50 mm

3,5 x 25 mm

3,5 x 15 mm

L = 1754 mm

L = 1756 mm

0
 m

m

10
 m

m

2
0
 m

m

3
0
 m

m

4
0
 m

m

5
0
 m

m

M6 x 20 mm

6 x 9 mm

4 x 13 mm

M4 x 9 mm

L = 870 mm



 

  ME   14.06.2024 980991  16 /41 

382

382

382

382

382

382

382

13

820

820

3x

18.
382

18x

4 x 13 mm

820

3x



  ME   14.06.2024 980991  17 /41 

204 204

13.1

13

13.2

13

3x

13.1

20 min

19.
204

3x



  ME   14.06.2024 980991  18 /41 

4  +  5

8  +  9

190

190

190

190

190

190

190

190

190

8x

8 x 30 mm

8 x 30 mm

8x

190

20.

21.



  ME   14.06.2024 980991  19 /41 

203 354

ca.
 55

 cm

203 +

354

203 +

354 203 +

354

203 +

354

8

9

354

203 354

4x 4x

3,5 x 25 mm

22.



  ME   14.06.2024 980991  20 /41 

354

354

354

354

354

46 mm

5

9

8

1 mm

203

354354

4x

354

4x

3,5 x 25 mm

23.



 

 

  ME   14.06.2024 980991  21 /41 

58
 cm

ca.
 6
1 c

m

201

351

201

351

181

181

181

181

201181

351

6x 1x

1x

3,5 x 15 mm

24.
215

3x

305

6x

6 x 9 mm

330

2x

181

181

330

330

305

305

305

215

215

215

1.

2.

305

305

215

215

2

1



  ME   14.06.2024 980991  22 /41 

 

190

190

190

190

201

201

351

3

351

3

181

181

181

181

181 190 201 351

8x 4x 1x 1x

3,5 x 15 mm8 x 30 mm

25.

181

181

181

181



 

  

  ME   14.06.2024 980991  23 /41 

890

11

11

0,5 mm 0,5 mm

11 11

890 890

26.
890

1x



 

 

  ME   14.06.2024 980991  24 /41 

 

11

240

240

330

330

351

351

245

245

245

351

240

27.
351

2x

3,5 x 15 mm

330

2x

240

2x

245

2x



 

 

  ME   14.06.2024 980991  25 /41 

 

28.
305

6x

6 x 9 mm

215

3x

240

2x

190

2x

8 x 30 mm

181

181

181

2x

190

190

240

240
215

215

215

305

305

305

10

10

305



  ME   14.06.2024 980991  26 /41 

 

2

5

8

9
7

320

320

303

221

320

221 303

1x 1x

6,3 x 10 mm

2x

6 x 50 mm

29.

30.



  ME   14.06.2024 980991  27 /41 

 

3

7

303

221

221

303

221 303

221 303

1x 1x

6,3 x 10 mm

1x 1x

6,3 x 10 mm

31.

32.



  ME   14.06.2024 980991  28 /41 

320

320

320

320
4

320

320

320

320

1

221

303

4x

320

6 x 50 mm

221 303

1x

6,3 x 10 mm

1x

320

4x

6 x 50 mm

33.

34.



 

 

  ME   14.06.2024 980991  29 /41 

221 221

303
303

35.



 

 

  ME   14.06.2024 980991  30 /41 

36.
2x

351

3,5 x 15 mm

351

2x4x

11

10



 

 

  ME   14.06.2024 980991  31 /41 

37.

303
303

221
221



  ME   14.06.2024 980991  32 /41 

66

351
220

220

220 220 220

220
220 220

220

8x

4x

746

6  +  12

3,5 x 15 mm

4x

351 220

8x

38.

40.39.

6

12



 

 

  ME   14.06.2024 980991  33 /41 

 

351

351

351

351

4x
3,5 x 15 mm

351

1x 1x

886 887

886

887

L + R

3
m
m

41.



  ME   14.06.2024 980991  34 /41 

351

351

913

915

5

6x

6x

351

351

351

351

351

351

351

351

351

351

351

351

913

915

12x

351

3,5 x 15 mm

913 915

1x 1x

L = 1754 mm L = 1756 mm

42.



 

  ME   14.06.2024 980991  35 /41 

2x

885 891441

M6 x 20 mm

2x 2x

885

891

441

885

891
441

1.

2.

1.

2.

43.



 

  ME   14.06.2024 980991  36 /41 

 

14

44.

14

14



 

  ME   14.06.2024 980991  37 /41 

45.
408

6x

M4 x 9 mm

408

408

408

408

3x

13



 

 

  ME   14.06.2024 980991  38 /41 

 

3.

4.

5.

46.
102

8x

102

8x

o10

SP15



 

 

 

 

  ME   14.06.2024 980991  39 /41 

2.

1.

3.

CLICK

CLICK

2x

47.



 

 

 

  ME   14.06.2024 980991  40 /41 

2.

1.

2x

3.

CLICK

CLICK

48.



 

 

  ME   14.06.2024 980991  41 /41 

1 
m
m

49.


